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British TrailO Championships 2011 Sheffield
Championship course 14" May 2011
Final Results
£
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tme | C [tme] E | B|C | B|/C|B|Z|A|C|B|Z/B|V|A|/A|C|C | B|Z Total £ |k
Name Club Age Class | O/P | J? 1 T1 2 |T2|1/2 |3, 4/B /6|7 8]910/11(12[13[14/15]16 /17|18 Time 3 8
1|Alan Gartside LVO (0] 13.5C 15.5]E B|B B/ C/ B|Z|/A|C|B|Z|B|X|/A|/A|lC|C|B|Z 29 18 29
2|lan Ditchfield MV O 21.5/C 18E B|c/ B|/C/B|[C/A|lC/B|Z|B|/X/A|/AJAIC|B|Z 39.5 17| 39.5
3/Charles Bromley-Gardner BAOC (0] 16IC | 26.5E B|C|B|C|B|Z|A|C|B|Z|B|X|A|Z|Z|C|B|Z 425 17| 425
4/John Kewley MDOC (0] 16.5/C 5.5E B|lz/ B/C|B|Z|A|C|B|Z|/B|X|Z|A|Z|C|B|Z 22 16 22
5/Clive Allen SN (0] 46/C 16|E BB/ B|Z B|Z|A|C|B|Z|B|[X|A|A|B|C|B|Z 62 16 62
6/Dennis Mews HOC (6] 18.5/C 17|E B|B B|Z B|C A|C|/B|Z|Z|X|A|/A|lZ|C|B|Z 35.5 14| 35.5
7|Margaret Parker AIRE O 30/C 34|E B|C/B|C|B|C|A|C|B|z|C|X|B|Z|C|Z|B|Z 64 14 64
8/Stephen Gilmore LVO (0] 33 E 54.5|C BB/ B|/C|B|Zz|B|C|C|Z|B|[X|A|A|Z|C|B|Z 87.5 13| 207.5
9Dick Keighley WIM (@) 35/C 31|E B|zZz|B|C|B|C|A|A|B|Z|B|X|Z|Z|A|Z|B|Z 66 12 66
10/Helen Chiswell DVO (6] 19/C 15|C B|B B|Z B|C Z A B|Z| B/ X|A|/A|lZ|C|B|Z 34 12 94
11]Alan Parker AIRE (0] 26.5/C 47/C c/B/B|C|B|Z|]A|IC|]A|Z|B|X|X|A|Z|A B)|Z 73.5 12| 133.5
12|John Crosby NATO P 10.5/C 15.5|E Z|/cC/B|C|C|B|A|C|C|Z|Z|X|B|Z|Z|C|B|Z 26 11 26
13JAmanda Cooper EBOR 6] 52/C 38E c|c|/B|Z|D|C|A|A|C|Z|B|X|Z|Z|Z|C|C|Z 90 9 90
14/Philip Cooper SOC ) 21B | 19.5/C B|/B|B|B|D|z|zZ|A|B|Z|B|X|A|Z|A|C|B|A 40.5 9 160.5
14|Number of entries
NOTES Count of correct answers 12 100 11| 5| 14 9 111 7 11 10| 100 14 111 0 8 § 11 13| 13
a) Solution to 5 is B and not C as shown in solution sheet Count of all completed answers 14 14 14 14 140 14 14 14 14 14 14 14 14 14 14 14) 14) 14) 14] 14
b) Control 12 was voided Percent inc:.‘)rrect Tnsw‘er‘s 14 29| 21| e4] of 36l 21| 50| 21] 29| 29| o 21] 100] 43] 43 8| 21| 7 7




British TrailO Championships

Standard Course Saturday 14t May 2011

Final |Results
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tme| B|D|/A|C|A|B|/A|[C|D|/A|A|A|B|B|C Total| | E | &
Name Club__[AgeClass | O/P | J? Dibber 1 TT|1]2[3]4]/5]6/7/8/9/10/11[12][13[14 Time 218
1/Beryl Blackhall SELOC (0] 29D b A lc/AAB|C|DBAIIAIB B IIC |29 1
2|Sarah Francis SN (0] 26D B A A A B B |C DB A I|A B B A |26

2|Number of entries
Count of correct answers o 11 20 11 2 1 o 20 280 of 20 20 280 2 1
Count of all completed answers 2 2 2 2l 21 21 2 20 21 2 2
Percent incorrect answers 1000 50 of 50 o] 50 100 of of 100 o o o o 50
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